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M.B.A. DEGREE EXAMINATION, OCTOBER 2019
Third Semester
FINANCIAL DERIVATIVES
(2018 Admissions—Regular/2017 Admissions—Supplementary)

: Three Hours Maximum : 60 Marks
Part A

Answer any five questions.
Each question carries 6 marks.

Define the term ‘Financial Derivative’. What are its important features ?
Summarise the limitations of derivatives.
‘What are important terms used in trading forward contract ?
Bring out the importance of futures markets in context to economic growth of a country.
How a futures position can be closed ?
Differentiate between options and futures contracts with suitable examples.
What is an option contract ? What are itsproperties ?
How interest rate swaps are valued ?
(5 x 6 = 30 marks)
Part B

Answer any two questions.
Each question carries 10 marks.

“Derivatives are considered as risk management tools used by organisations, investors and

individuals” —Comment upon the statement.
Compare and contrast the trading mechanism of forward market and futures market.
Explain the role of the exchange in futures trading mechanism with suitable examples.

Discuss the Black-Scholes option pricing model with suitable examples.
(2 x 10 = 20 marks)

Turn over




image2.jpeg
13.

2 F 7579

Part C

Compulsory question.
It carries 10 marks.

Mr. Ramu, a pension fund manager, thinks that the stock market is going to move upward sharply
in the next three years. In contrast, Mr. Somu, who also runs a pension fund, thinks that the stock
market is likely to move downward in the same period of time. Mr. Ramu is considering selling
Rs. 100 million of bonds and investing the proceeds of common stocks whereas Mr. Somu is thinking
of selling Rs. 100 million of common stocks and using the proceeds to purchase bonds. How can this
be used by both parties to exchange their futures cash flow ? Also assume that return of standard
and poor 500 return during year of swap are equal to 3 %, — 4 %, 1 % and 5 % and return on bond

is 2 % of the notional principal.
(1 x 10 = 10 marks)
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M.B.A. DEGREE EXAMINATION, NOVEMBER 2017
Third Semester
FINANCIAL DERIVATIVES AND RISK MANAGEMENT

(2016 Admissions—Regular/2013 to 2015 Admissions—Supplementary/2012 Admissions—

Mercy Chance)

Time : Three Hours Maximum : 60 Marks

1. (a)

(b)
2. (a)

(b)
3. (a)

(b)

4. (a)

(b)

Answer all questions.
Each question carries 12 marks.

Define risk. What is financial risk management ? What are the alternatives for managing
financial risk ?

Or

Discuss the recent trends in Financial derivatives market in India.

Explain the role of forwards and futures in managing financial risk with examples.
Or

Discuss the growth of interest rate future contract and currency future contract.

Explain the underlying assumption of the Black-Scholes option pricing model. Why are they
needed ?

Or

Consider a three month call option on PQR company's stock with an exercise price of ¥ 45. If
PQR is currently selling at 250 and the risk free interest rate is 5%, what will be the price of
the option ? Apply the Black-Scholes model to find call option value by assuming the standard
deviation of the rate of return of PQR stock to be 0.4.

Explain about swap rate. What is the relationship between swap rates and par yields ?
Or

Explain with example how derivatives are treated in accounting record.

5. Compulsory :

XYZ company wants to borrow at a fixed rate while ABC company wants to borrow at a floating
rate. XYZ company can borrow at a fixed rate of 8% or at a floating rate of MIBOR + 150 basis
points. ABC company can borrow at a fixed rate of 9% or at a floating rate of MIBOR + 50 basis
points. Show that these two companies can improve their position through an interest rate swap.
What would be the gain to the two parties ?

(5 x 12 = 60 marks)
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